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; 100kN/M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - [ 3mERBZS -~ - - -
zh st 1.00 | 0.00 ~ 590 73.89 | Fhs | 000 ~ 590 238 12.73 zhst 1.00 | 500 ~ 1290 73.89 | #FnLSY | 5.00 ~ 1290 238 12.73
P 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - [ 3mERBZS -~
zh st 1.00 | 0.00 ~ 6.08 76.22 | FhS | 000 ~ 608|227 12.14 zhst 1.00 | 500 ~ 1120 76.22 | FnLS | 500 ~ 11.20] 227 12.14
3 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 | 0.00 ~ 563 70.30 | Fhs | 000 ~ 563|236 12.65 zhst 1.00 | 500 ~ 1160 70.30 | FnSY | 5.00 ~ 1160| 236 12.65
4 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 635 79.85 | #hs | 0oo ~ 635 219 11.74 zhst 1.00 | 500 ~ 1070 79.85 | #FnLSY | 5.00 ~ 1070 219 11.74
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E# 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 572 71.53 | Fhs | 0oo ~ 572 234 12.54 zhst 1.00 | 500 ~ 1150 71.53 | #FnLSY | 5.00 ~ 1150 234 12.54
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E#8 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 681 86.15 | Fhs | 0oo ~ 681 205 10.99 zhst 1.00 | 500 ~ 1000 86.15 | Fhs | 5,00 ~ 1000| 2.05 10.99
- 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%# 2% - -~ - -[3mERBZS -~
zh st 1.00 | 0.00 ~ 732 93.37 | NS | 000 ~ 732 1.98 10.61 zhst 1.00 | 500 ~ 1050 93.37 | S | 5,00 ~ 1050| 1.98 10.61
3 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 | 0.00 ~ 656 82.69 | Fhs 000 ~ 656 221 11.81 zhst 1.00 | 500 ~ 1150 82.69 | s | 5,00 ~ 1150 221 11.81
9 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%# 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 578 7223 | FhS | 0oo ~ 578 224 11.99 zhst 1.00 | 5.00 ~ 9.90 7223 | FhS | 5.00 ~ 990 | 2.24 11.99
10 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 | 0.00 ~ 395 49.51 | NS | 000 ~ 395| 2.46 1318 zhst 1.00 | 6.00 ~ 840 49.51 | =hs | 500 ~ 840 | 2.46 13.18
17 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%# 2% - -~ - -[3mERBZS -~
Zhust - -~ - - #host -~ - - - Zhust - -~ - -1 #hst -~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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